SAXON MIATH

Lesson 67 < Percent of Change

Power Up

— Facts

— Mental Math

— Problem Solving
New Concepts

— Examples

— Practice Set
Written Practice
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Course 3

Solve each proportion.

x _4 5_10 8 _x 3_9
12 6 x 30 16 4 6 x
X=28 x =15 X=2 18
X -2 3_ 95 7 _ X 3 _9
20 10 x 15 14 12 12 x
X =4 x=9 xX=06 x =20
X _ 5 12 _ 60 10 _ x 9 _10
100 25 X 20 100 50 27 X
x =20 x=4 xX=5 x =30
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250

50 min

S quarters

mean: 9.62, median: 9.6, mode: 9.5; range: 0.3
$400

a. x=4y=10

b. Sample: No; the side lengths do not satisfy the Pythagorean
Theorem.

Course 3

N e o

(. y= %x
8. y=-3x-8
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9. no o f
10. True X
11. 120m Koy ‘
12. $7.80 B X —
13. a. 05 \
5 N\

b. 555 %

c. 0.55,32,0.56
14. a. 30 units

b. 30 sguare units.
15. a. 5(Xx?+x+2)

b. -3x-9
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5

16. a. 35 23. xX=171
b. 591 cards; 9vowels 24, x=60
260 51 - - 25. The relationship is a 1
17. " s = proportion; 24 karats; K = 24,
18 a3 = 0.0417; 14 karat gold is 52
m or 58.3% pure.
b.
19. O
20. x=75°y=75°2z=105°
21. a. {HA,HB,HC,TA, TB, TC}
1
b. 3
22, x=14
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